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01 02 06 08 11 12 16
HES EF 4 WIF WIF WIF WIF WIF WIF WIF &3&f JBEAL HE
71 [LUHE ¥ k% kkk kkk kkk kkk kkk kkk 2] 1 P
76 %H E dokk kkk kkk kkk kkk kkk kkk 2] 1 P
77 BUE i Kk kkk kkk kkk kkk kkk kkk 2] 1 P
78 K E BEEx dokk dkokk cdkokk dkokk dkokk dkokk dkkk 2] 1 P
79 ZEH & Rk ddock dkk dokk kkk kkk kkk 2] 1 p
80 MIH HIE kkk koksk koksk kksk kkk kkk kkk 2] 1 P
81 FE & k% kokk kkk kkk kkk kkk kkk 2] 1 P
83 FH;EA My dokk dkokk cdkokk dkokk dkokk dkokk dkkk 2] 1 P
84 (R =%k k% kokk kkk kkk kkk kkk kkk 2] 1 P
85 KLU =Z=RE dkk kkk ckkk kkk ckkk kkk kkk 2] 1 P
86 FHE (& *kk kkk kkk kkk dkkk kkk kkk 2] 1 P
87 I\AJFE J& kkk kdkk kdkk kdkk kdkk kkk kdkk 2] 1 P
88 JEE 1E *kk kkk kkk kkk dkkk dkkk kkk 2] 1 P
89 JWHH fFn dokk dkokk ckokk dkokk dkokk dkokk dkkk 2] 1 P
91 #HH FEBE dkokk kokk ckokk dkokk dkkk kkk dkkk 2] 1 P
92 K[ EAK dokk ckokk ckokk ckokok ckokk kekk dkekk Q] 1 P
93 EF IE dkk ckkk ckkk ckkk kkk kkk kkk 2] 1 p
9% JFH wi Rk kkk kkk dokk ddk kkk kkk 2] | p
96 5K ER sk kkk kkk kkk kkk kkk kkk 2] 1 P
97 [RpEE Z&— Hdkk dokk kkk Kk kkk kkk kkk D] 1 P
98 A M dkokk kokk kokk kokk dkkk kkk dkkk 2] 1 P
99 BEfi P& dokk ckokk ckokk ckokok ckokk kokk dkekk Q] 1 P
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[No. ®F K4 0 02 06 08 11 12 16 JBATL|

2 B Waltz

76 %H B 6 4 3 7 6 1 7 7.0
T BH B 3 7 7 4 5 7 2 6.0
83 /A H 2 2 6 3 3 5 6 | 3.0
89  WHH #fn 5 1 5 2 2 4 1 1.0
91  KH E 1 3 1 5 1 6 3 2.0
92 M ERR 7 5 2 6 7 2 5 5.0
95  JRHEH o 4 6 4 1 4 3 4 4.0
2 B Tango

76 %H B 6 2 5 3 5 1 6 4.0
T BH B 2 7 6 7 6 7 2 7.0
83 /A H 4 3 7 1 4 6 3 3.0
89  WHH #fn 3 1 2 6 3 5 1 2.0
91  KH E 1 4 3 2 1 3 4 1.0
92 MMM ERR 7 5 1 4 7 4 5 6.0
95  JBHEH o 5 6 4 5 2 2 7 5.0
2 B Fox Trot

76 %H B 6 2 6 2 4 1 7 4.0
T BH B 2 7 5 7 6 5 1 5.0
83 /A H 3 3 2 1 2 4 4 2.0
89  WHH #fn 4 1 1 6 3 2 2 1.0
91  KH E 1 4 4 4 1 6 3 3.0
92 MMM ERR 7 5 3 5 7 7 5 7.0
95  JBHEH o 5 6 7 3 5 3 6 | 6.0
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E AR SR

No. & F K 4 W T F B AR
76 %W EE 7 4 4 15,0 4.0
77T BUE O Rl 6 7 5 18.0 7.0
83 A MFH 3 3 2 8.0 3.0
89 | WHH #Fn 1 2 1 4.0 1.0
91  FH E 2 1 3 6.0 2.0
92 | A ERR 5 6 7 18.0 6.0
95  JRH 4 5 6 | 15.0 5.0
No. % & B 4

01 B EF

02 FE ER

06  RKEF L

08 FHA BT

11 ANHE @EE

12 K IRE

16 #WE =HH
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A AL PR

HES P K4 N—hF— 4 FiAE
71 (HE w911 SY/EVA HETR 5
76 %MW JEE A T AN
77 BUH O e b1 BTAL
78 KE BR IR ALT HET I
79 BEH O BEH 4L 2T e
80 WIE HIE I Ok I HET I
81 MR B MR BT YER S
82 B B BA BT R
83 A S E AR T 3N
84 TR =R Pl ST H2TE
85 il =i YrHE JESE 2R
86 HE & HE Sz FoT
87 JAKIR J& IR Bz F YETR 5
88 R 5 R ELT 2T
89 WHHE #F0 LT HE1AL
90 s wE M)l B K5
91 FHE FEE Ay FXT E0A
92 PR ELAK FARE T 6N
93 E+ 1E ¥ T 2T ®
94 BA[E6 B FIER =1 K5
95 JFH T FEiE EEE EAsthA
96 gk ER A |/ HE2TE
97 FiE 45— UNEJE AN 2R
98 B ENFHE 51 H2TE
99 S LT EE o1 TR
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